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QID : 4051 - Complete the sentence using appropriate option.
The Council............. made its decision.

Options:

1) have

2) have had

3) has

4) having

Correct Answer: 3) has

Candidate Answer: 2) have had

QID : 4052 - What do tenses as the form of a verb help to determine?
Options:

1) The time of the action

2) The state of the action

3) Both The time of the action and The state of the action

4) The number of action

Correct Answer: 1) The time of the action

Candidate Answer: 3) Both The time of the action and The state of the action

QID : 4053 - Which tense is used to show the completion of an action by a certain time in the
future?
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Options:

1) Future perfect tense

2) Present indefinite tense

3) Future perfect continuous tense
4) Both (A) and (C)

Correct Answer: 1) Future perfect tense

Candidate Answer: 3) Future perfect continuous tense

QID : 4054 - Complete the sentence using appropriate option
The crowd that......... due to the quarrel has dispersed now.
Options:

1) have gathered

2) has been gathered

3) had gathered

4) has been gathering

Correct Answer: 3) had gathered

Candidate Answer: 2) has been gathered

QID : 4055 - Identify the tense used in the given sentence.
"l am visiting her now."

Options:

1) Present indefinite tense

2) Future perfect continuous tense

3) Future perfect tense

4) Present continuous tense

Correct Answer: 4) Present continuous tense

Candidate Answer: 4) Present continuous tense

QID : 4056 - Complete the sentence using appropriate option

It is a tradition that---ever since.
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Options:

1) have been celebrated

2) had been celebrated

3) has been celebrated
4) ) has been celebrating

Correct Answer: 3) has been celebrated

Candidate Answer: 4) ) has been celebrating

QID : 4057 - Choose the present perfect tense form of the given sentence.
The manager shall be on leave."

Options:

1) The manager is on a leave.

2) The manager had been on leave.

3) The manager was on leave.
4) The manager has been on leave.

Correct Answer: 4) The manager has been on leave.

Candidate Answer: 1) The manager is on a leave.

QID : 4058 - Select the most appropriate option to change the sentence from direct speech to
indirect speech

Ramesh said, "l like this film". Ramesh said that he ..............
Options:

1) He likes this film

2) he has liked the film

3) has been liking that film

4) he liked that film

Correct Answer: 4) he liked that film

Candidate Answer: 4) he liked that film

QID : 4059 - T=: "SI HTVT fpa ofiet fafty & forgt o Tl 8" -39 Y= WR 3MUph! 39 § fob-
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Options:
1) 7% f9agd a6l
2) 9% §gd 66 a9 YW §

3) B HIWT 1 3o+t i St @
4) 4T 3R fafy & i ve Hur dey g

Correct Answer: 2) Tg §gd 8¢ d® 444 g

Candidate Answer: 3) gX HIH[ P 3T ferfT g %

QID : 4060 - f4E=T : I 3T 10 v=Af & TEYIae Iugad SR aldl fadhed &I AT |
Y-y AR BT UANT 99 IUART BT § o a<a-

Options:

1) 3T W U g ufafeear g T
2) IYDT YN BT 3BT DR T

3) IUb T DI UichdT I T T
4) I 950 WA I IHY T

Correct Answer: 4) IS5l ggd 9xcldl q IO T

Candidate Answer: 4) 34 Jgd Gadl ¥ 99 b

QID : 4061 - 3fdfAfed HTHT &HdT BT Ty FIAYUT |

Options:

1) faars

2) R

3) AP

4) TTRDT

Correct Answer: 4) AR

Candidate Answer: 3) dTSTI®!

QID : 4062 - fAd=T - i faw v uwAY & fore 9ed Ifea faweu &1 997 Fifoe :
a1 9uTl & A ¥ AT f[AbR 6l T hed 82
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Options:

1) fY

VARSEIRS]

3) Igf

4) Yy

Correct Answer: 1) e

Candidate Answer: 1) I

QID : 4063 - T 31 2P T a1 F fda Ve ga &2
Options:

1) TR

2)a

3)dH

4)Urg

Correct Answer: 3) oI

Candidate Answer: 1) IR

QID : 4064 - ‘Ueft ISR € I'l {5 BTad HT I<TER0T 87

Options:

Correct Answer: 2) CREIC]

Candidate Answer: 2) CREIE]

QID : 4065 - ‘Ucit’ &1 GITaarl Tt &-
Options:

1) Yt

NEICE
3) a1
4) gfgd

Correct Answer: 1) yraf
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Candidate Answer: 1) yraf

QID : 4066 - T F} T TAN FY, TaH! AT WR A HY
A &1 T &, o fatew s @

YT BRATYR 31T, TTEd HT He=T g

Bl 1Y 3R a1 31T &, W g Hi afe a1 s

@ S & Had Gid T, @ ST R THH

B I8! TR & WA, gReH WR SRy 7 I3

gy ag vt < 7 T, MRS TS &7 o 7 qhT

I R BT S T, S AT SrTe Jre= el

e TR AN W BTl &, Ugel fade #R S |

oft W1 Hgl W Y 2
Options:

1) HYRA

2) BRRFTR
3) =
4) g

Correct Answer: 2) BRHTRR
Candidate Answer: 2) BRFTRR

QID : 4067 - T F1 T AW B, TGH! JATT W A B
At & g &1, Hivor f9éa sam &

YT GRAATYR 31T, TS &7 He=T A

G I 3R o 31T &, R 39H ot Afg qen gl

@ S & Had Gid T, T@T ST Rl THH

&Y ael Gt I WA, ufem W 3y 7 IaTd

gty ag Ht < 7 T, RIS TS &7 & 7 qhT

3Jdc R &I S T, S AT 3rTe Jre= e

T I T IR BTl 8, U8 fade TR e 31

fipor T 31T A2
Options:

1) g 9 e

2) QAU &1 T, I BT b
3) YIRS DT T

4) SRR T

Correct Answer: 2) gﬁ%r:r Ca| Eﬁ%ﬂﬁg@ CARICE
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Candidate Answer: 2) 4Tt &I YU, JG B Adb

QID : 4068 - T F} T TAN FY, TaDH! AT W A HY
At o1 THe &, oo fatew s @

T RATYR 31T, TTEd BT He=T g

Bl 1Y 3R a1 31T &, W 35 Hi afe e s

@ S & Had Gid T, QT ST R THH

B I8! TR & WA, gReH W SRy 7 I3

gty ag Ht < 7 TP, MRS TS &7 o 7 qhT

e R B S g, S AT 3rTe Jre= el

e TR AN W Bl &, Ugel fade R S |

Uied gg <ra- & fore ford 8 I THeidl a3 &1 daR 4?2
Options:

1) YIS T IS AHR
2) U T1d AP
3) T T1d AP
4) UTg g AP

Correct Answer: 4) IERICASERS

Candidate Answer: 4) LIERICASERS

QID : 4069 - T FT T TAW B, TGH! JAT W A B
At & g &1, Hivor [9éa sam &

YT GRAATYR 31T, U8 &1 THe=T Al

G I 3R ot 31T &, R 399 ot A aen gl

@ S & Had Grd A, T@T ST Rl THH

&Y ael Gt ¥ WA, ufem W 3y T IaTd

gty ag Ht < 7 T, MRS TS &7 o 7 qhT

e R oI S T, S AT 3rTe 1= e

T I T IR BTl 8, U8 a3 TR e B

3 3 {5 91 3T e FHET 82
Options:

1) S1HT B &l T

2) gG DI era

3) Uisdl &I SiaT
4) Y &1 U1 g1

Correct Answer: 1) SIS & &l ST
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Candidate Answer: 1) &Y &I & FF1

QID : 4070 - T3t 5} B TA HI, IaH! YN R A B
At o1 THe &, oo fatew s @

YT RATYR 31T, TTd HT He=T g

Bl 1Y 3R a1 31T &, W 35 Hi afe e s

@ S & Had Gid T, @Y ST R THH

B I8! TR & WA, gReH WR SRy 7 I3

gy ag Ht < 7 TP, MRS TS &7 o 7 qhT

e R B S T, S AT STe Jre= el

e TR AN W BTl &, Ugel fdde R S |

Se Afdd WR A fdhe 3 g o
Options:

1) ITF faaR 9gd o &
2) 98 R e ST ?

3) 3G fads TR ST |
4) T8 3T B ST 8

Correct Answer: 3) 3d] foa® W ST %‘

Candidate Answer: 3) 391 fdd% MR A1 §

QID : 4071 - T BT T TAW B, TGH! JATT W A B
At & g &1, Hivor f9éa sam &

YT GRAFTYR 31T, TS &1 THe=T A

G I SR ot 31T &, R 399 ot Afg aen gl

@ S & Had Grd T, T@T ST R THH

&Y ael GRit I WA, ufem W 3y T IaTd

gy ag Ht < 7 T, MRS TS &7 & 7 qhT

3Jdc R &I S T, S AT 3rTe Jre= el

T I T IR BT 8, U8 fade TR e 31

T @1 o B

Options:

1) Te T

2) T&T T

3) fAwe &1 anf
4) TTH A DIS T8I

Correct Answer: 1) gl Il

https://btet.sifyreg.com/bsebregjan24/ccgsa_mar24/process.php?appid=a120850d7226cd50ca5f94ea073a2b51&q=N2U1NWIyNmQ3NTQzZG... 8/72



3/19/24, 1:17 PM COMPETENCY TEST FOR LOCAL BODIES TEACHER(CTT),2024(First)

Candidate Answer: 1) BREES

QID : 4072 - T TS rHToIes ol 81 I9aT ot § o6 a5 W o ofk gl & oft iR 1 a8 oA
FE-gT & 1Y GIRI & YE-g@ $1 3R ff & § 1 30 Wi 3l BISH gu”l & fgd &1 i Fidl|
3T T g BT AadT Agl § | R 8 et Aadl 8 | Tt Tedt 4 § | TS S(U+ & a1
I & IR RILT HR bl ¢ 1 98 T ¥, 4 1 AT dH J 3YaT dFl J GIRI BT HATs B Gl
B G & Uy Tedt ergHfa et )Rfga B 1 fhelt & Wahe § w3, el 6 A 9 g,
forelt gt SR AR ufakd 1 i &1 +ft TRfgd & BT Sicidl offa 81 T X 3 BN-ga &1
T B 1T ST a1l &1 T UK [T | 1 7ilg 2 @il &1 S T, J91e 3iRie A RIH-
RIF R HY, TS 1S Feardx ST BT TSR 57| Tgt Araar o1 e oif g1

T &7 ¥ §:-

Options:

1) 98 Wd U iR g 1 i o ¢
2) 9 & 9HH TS

3) ¥ Afae Fgwt &1 ure

4) fet A gura

Correct Answer: 1) I8 %W fU iR R H i oA T
Candidate Answer: 1) g W% foTg 3R gERi &1 Hft S T

QID : 4073 - T U qrtord uoft 81 39T 4o § 3 ag T forg ofik gl &1 ot St 31 98 oA
E-3W & 1Y g1 & GU-gW 1 SR Ul &9 ¢ | 30 W1 &l BISdhr gkl o fed @1 ot Tid|
3T T R BT Aadl Tel ¢ | R 8 wed! Aadl ¢ | Ja! edl 4 § | T 301 &Far a1
I & IR IR HR bl g1 98 T Y, 4 9 A1 a7 J YaT il § GERI D1 HATs B Gl
B TR & U Tt Teryfa T it iRt g1 frh &t Webe & s, fondt &) At § ger,
forelt gt ok R ey bt w1 &1 +ft WRfgd & & Siaid offal & | HiTaH I 3 B-gial o
ToRT H ST ST aTal A& HT HgR f5aT| $31 TXite 2 AN BT I a1, ITe 3=l 3 RIH-
RIM R GV, AT 1S Feardx Sl BT SUBR 57| T8 AHadr H1 Tge o g |

THadT 81 §;

Options:

1) IR B! H UgaHT

2) Rl B! IHAdT W §%1 HAT

3) 3o Wy Ry e

4) TWRI & /- DI 3R & 7 T
Correct Answer: 3) 3T T g HeT

Candidate Answer: 3) 30Ul @ R B
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QID : 4074 - T U JrATRoras UToft 81 3T o § o a8 T forg ik garl 1 ot SfF 21 @ 3o
JE-gT & 1Y GWRI & F&-g8 $I 3R Hf &4 | 30 Wi Bl Blgadx ga”l & fgd BI ot Gidl|
3T T g BT AadT Aal § | R 8 Tl AadT 8 | gt et 4 § 1 TS S(UF & At
I & IUR RIGT IR GHhdl g1 98 7, & F a7 a1 F 3rdl =1 I GIRT Bt HATS IR Gahel
B TRI & U Tt Feryfa T ft iRfed g1 fnht &t abe & s, fondt &1 $ant § ger,
forelt gt ok AR ufakd 1 i &1 +ft IRfgd & §1 Sici offa 81 e XM 3 BiN-gfa 31
TOR H ST ST a1l AT BT HR 51| S81 T¥tg A ARl BT I a1, I Sl 3 RIH-
R R FU, IS TS GEaTdhR Td1 BT SUBR (64T T8 AFadT &1 Tge ¥ 7|

=T g /T 82

Options:

1) sifg
2) RUHR
3) TAHS3T
4) <

Correct Answer: 2) RIUGR

Candidate Answer: 2) TRIUGR

QID : 4075 - T U qrTores uroft 81 Iqast 4o § 3 ag T forg ofik gt &t oft St 21 g o
TE-g8 & 1Y GWRI & -8 B1 3R ff & 1 30 Wi &l BIeax g}l & fgd &1 off idl|
3T T g BT AadT Tg1 § | R 8 el Aadl § | T edl 4H § | TS S0+ &Far a1
I & IR IR HR bl ¢ 1 98 T, 4 1 AT q J 3YaT il J GERI BT HeATs B Gl
BRI & U Tt Ui et iRfga B 1 freh Y e @ s, feelt Y pumt @ ger,
Tl gt oIk FRTT Sfad &1 FiaT &1 Hft TRIgd & BT SRl STl & | e I A B-gfHaT ot
TOT H FTYT ST aTcl &1 1 HER [T | 91 Filg 2 ARl &1 S a1, J9Ie 3RS A RIM-
RIM R HY, TS 1S Fedrd ST BT TSR 57| Tgt AHaar o1 T o g |

HITa 9 A fhgeT dgR fear?
Options:

1) S BT
2) ieRur &1
3) ¢dl &1

4) 1&g BT

Correct Answer: 4) &’ &I

Candidate Answer: 4) RERIED]
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QID : 4076 - A U JrATRoTes UToft 81 3T o § o a8 T forg ik garl 1 ot S 21 @ 3o
JE-gT & 1Y GWRI & F&-g8 $I 3R Hf &4 | 30 Wi Bl Blgadx ga”l & fgd BI ot Gidl|
3T T g BT AadT Aal § | R 8 Tl AadT 8 | gt et 4 § 1 TS S(UF & At
I & IUR RIGT IR GHhdl g1 98 7, & F a7 a1 F 3rdl =1 I GIRT Bt HATS IR Gahel
B TRI & U Tt Feryfa T ft iRfed g1 fnht &t abe & s, fondt &1 $ant § ger,
forelt gt ok AR ufakd 1 i &1 +ft IRfgd & §1 Sici offa 81 e XM 3 BiN-gfa 31
TOR H ST ST a1l AT BT HR 51| S81 T¥tg A ARl BT I a1, I Sl 3 RIH-
R R FU, IS TS GEaTdhR Td1 BT SUBR (64T T8 AFadT &1 Tge ¥ 7|

T o Ife-fosse @

Options:

1) W+
2) g+3rdf
3) T+3ref
4) g+arf

Correct Answer: 3) g+ 37

Candidate Answer: 3) T+aref

QID : 4077 - T U qrtores uoft 81 I9ast 4o § 3 ag T forg ofk gl &1 ot 5t 21 a8 o
TE-8 & Y GWRI & -8 B1 3R ff &9 1 30 Wi &l Breax gi’! & fgd &1 off idl|
3T T g BT AadT Tg1 ¢ | R 81 el Aadl ¢ | Ja! edl 4 § | TS S0+ &ar a1
I & IR IR HR bl ¢ 1 98 T, 4 1 AT aH F YT il § GERI BT HeATs B Gl
BRI & U Tt Ui et iRfga B 1 freh Y Ype @ s, feelt Y pumt @ ger,
Tl g SiR PR Sfad &1 FiaT &1 it TRIgd & BT ST STl & | e I A B-gHar ot
TOT H FTYT ST aTcl &1 1 HER [T 41 Tiig 2 ARl &1 S a1, JHIe 3R A RIMH-
RIF R HY, TS 1S Feard ST BT TSR 57| Tet AHaar H1 e o g1

AT Wee § UY §:
Options:

1) P
2)&

3) oI
4) TTH I DIS T8I
Correct Answer: 1) P

Candidate Answer: 1) ¥
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QID : 4078 - A U JrATRoras UToft 81 3T o § o a8 T forg ik garl 1 ot S 21 @ 3o
JE-gT & 1Y GWRI & F&-g8 $I 3R Hf &4 | 30 Wi Bl Blgadx ga”l & fgd BI ot Gidl|
3T T g BT AadT Aal § | R 8 Tl AadT 8 | gt et 4 § 1 TS S(UF & At
I & IUR RIGT IR GHhdl g1 98 7, & F a7 a1 F 3rdl =1 I GIRT Bt HATS IR Gahel
B TRI & U Tt Feryfa T ft iRfed g1 fnht &t abe & s, fondt &1 $ant § ger,
forelt gt ok AR ufakd 1 i &1 +ft IRfgd & §1 Sici offa 81 e XM 3 BiN-gfa 31
TOR H ST ST a1l AT BT HR 51| S81 T¥tg A ARl BT I a1, I Sl 3 RIH-
R R FU, IS TS GEaTdhR Td1 BT SUBR (64T T8 AFadT &1 Tge ¥ 7|

G- I TN 82
Options:

1) fe] qom

2) g 99

3) Sty TH™
4) HYRY THY

Correct Answer: 2) gg JHY

Candidate Answer: 1) Tﬁ‘lﬂ'ﬁm

QID : 4079 - T U qrTfores uoft 81 I9ahT 4o § 3 a8 T forg ofik gl &1 ot S 21 a8 oA
TE-g8 & Y GWRI & GO-g8 B1 3R off & 1 30 Wi &l Brgax gi’! & fgd &1 off idl|
3T T g BT AadT T8 § | R 8 el Aadl ¢ | Tt Tedl 4 § | TS S0+ &ar a1
I & IR IR HR bl §1 98 T Y, 4 1 AT a J YT il J GERI BT HAlTs B Gl
BRI & U Tt Tergufa et iRfga B 1 freh Y Yape @ s, feelt Y pumt @ ger,
Tl g oIk R fad &1 FiaT &1 +ft RIgd & BT SRl ol | HTaT I A B-gfHar ot
qOT H FTeT ST aTcl &1 1 HER [T | 31 Tig 2 ARl &1 S a1, J9Ie SR A RIMH-
RIF R HY, ATATE 1S Fedrd ST BT TSR 57| Tet AHaar o1 T o g |

TeR' BT 34 g:-
Options:

1) TR

2)

3) HalT$

4) &

Correct Answer: 2) AIX[

Candidate Answer: 2) AIX[
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QID : 4080 - A U JrATRoTes UToft 81 ST o § o a8 T forg iR garl &1 ot oA 21 @ 3o
JE-gT & 1Y GWRI & F&-g8 $I 3R Hf &4 | 30 Wi Bl Blgadx ga”l & fgd BI ot Gidl|
3T T g BT AadT Aal § | R 8 Tl AadT 8 | gt et 4 § 1 TS S(UF & At
I & IUR RIGT IR GHhdl g1 98 7, & F a7 a1 F 3rdl =1 I GIRT Bt HATS IR Gahel
B TRI & U Tt Feryfa T ft iRfed g1 fnht &t abe & s, fondt &1 $ant § ger,
forelt gt ok AR ufakd 1 i &1 +ft IRfgd & §1 Sici offa 81 e XM 3 BiN-gfa 31
TOR H ST ST a1l AT BT HR 51| S81 T¥tg A ARl BT I a1, I Sl 3 RIH-
R R FU, IS TS GEaTdhR Td1 BT SUBR (64T T8 AFadT &1 Tge ¥ 7|

=1 7tE A frget I_i faar?
Options:

1) 7T aTell &l

2) BR-gHaf &1

3) YTl &1

4) I <1

Correct Answer: 4) T

Candidate Answer: 4) @I &1

QID : 4081 - What comes next in the sequence: 1,1,2,6,24,  ?
ATHH T AT T MATR: 1,1,2,6,24, 2

Options:

1) 110

2)120

3) 130

4) 140

Correct Answer: 2) 120

Candidate Answer: 2) 120

QID : 4082 - A certain sum of money lent out at simple interest amounts to Rs.1380 in 3 years and
Rs.1500 in 5 years. Find the rate per cent per annum.

TIYRUT <47l R IYUR 2 718 o FAfda iy 3 957 & 1380 S 3R 5 981 & 1500 392 &) ot 2
yfaay ufawrd a3 1 S|
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Options:

1) 3%

2)3.5%

3)4%

4) 5%

Correct Answer: 4) 5%

Candidate Answer: 3) 4%

QID : 4083 - In an alloy, the ratio of copper and zinc is 7 : 6. If 1,450 gm of zinc mixed with in 14
kg 300gm of an alloy, then the ratio of copper and zinc will be

U iret o1 T e SR ST &7 30T 7 ¢ 6 71 Al 1,450 UTH ST 14 faal 300 T fiysrerg o
foreman | o dieT SR STAT BT SUTd BT

Options:

1) 26:27

2) 0.932638888888889

3) 0.976388888888889

4) 25:21

Correct Answer: 2) 0.932638888888889

Candidate Answer: 3) 0.976388888888889

QID : 4084 - A person lent certain sum of money at 5% per annum simple interest and in 15 years
the interest amounted to Rs 250 less than the sum lent. What was the sum lent in Rs ?

T afad = T (A MR 5% Ufday YR a9 IR IYR < 3R 15 I8 H 7 IYR o 78 AR I
250 ¥UY FHH g 1| SYUR & T8 AR (U H) F7 o2

Options:
1) 1500
2) 1000
3) 3000

4) 2000
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Correct Answer: 2) 1000

Candidate Answer: 4) 2000

QID : 4085 - If n is a positive integer, which one of the following numbers must have a remainder
of 3 when divided by any of the numbers 4, 5 and 67?

& n T YATHS QUITes 7, d Fafoied & § fry TRemm &1 4, 5 9k 6 T 3 fasdt off Tiem @ favnfora
PR W NG 3 AT A2

Options:
1) 12n+3
2) 24n+3
3) 90n+2
4) 120n+3
Correct Answer: 4) 120n+3

Candidate Answer: 1) 12n+3

QID : 4086 - — 496157 x 9999 = y. What is y?
— 496157 x 9999 = y. y FT §?

Options:

1) — 4691100813

2) — 4691100843

3) -4691100823

4) -4691100833

Correct Answer: 2) —4691100843

Candidate Answer: 2) — 4691100843

QID : 4087 - Brigadier B D Mishra (retired) has been appointed as the Governor/L-G of which
State/UT?

fonfeaR st S fsn (@arfga) &1 fra ITca/ds MR TSR &1 IsauTe/ua-st Fged fasar mar g2
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Options:

1) Kerala

&

2) West Bengal
CIEECHI]

3) Himachal Pradesh

feamra uex

4) Ladakh

Correct Answer: 4) Ladakh

SEUC)

Candidate Answer: 4) Ladakh

QID : 4088 - Who among the following is the author of the “Divine Comedy”?
Ffiied & 9 319 "fSars SIad & aEd 872
Options:

1) Goethe

ey

2) Milton

foree

3) Dante

afd

4) Shakespeare
QIR

Correct Answer: 3) Dante

aid

Candidate Answer: 4) Shakespeare

YRR

QID : 4089 - Which day is celebrated as World Intellectual Property Day?

gy Sifge Juar foag & wu & & 91 fe= 71 Srar 82
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Options:

1) 10th Apr
10 30d

2) 26th Apr
26 30

3) 05th May
51

4) 19th May

1973

Correct Answer: 2) 26th Apr

26 30

Candidate Answer: 4) 19th May

1973

QID : 4090 - Janjatiya Gaurav Diwas is celebrated on the birth anniversary of which leader?
TSI TRE fea¥ fod a1 &t St IR TR el 82
Options:

1) Atal Bihari Vajpayee

3fcd fogRt arerodt

2) Dr B.R Ambedkar

31 d1.3(R. 3SR

3) Birsa Munda

fear ger

4) Shyama Prasad Mukherjee
T JTE gt

Correct Answer: 3) Birsa Munda

foar ger

Candidate Answer: 3) Birsa Munda

fear ger

QID : 4091 - "Pyaar Ka Paudha" campaign has been launched by which Indian state ?

TR BT QYT R fhg HRAT o0 gRT T fobar mar 82
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Options:

1) Uttar Pradesh
JR U

2) Gujrat

ToRId

3) Bihar

IEGIN

4) Madhya Pradesh

e U

Correct Answer: 3) Bihar

foR

Candidate Answer: 2) Gujrat

QID : 4092 - Who is the first woman IAF officer to receive a gallantry medal?
R U U A aTelt ugel! Afgd HRAH arg JaT (IAF) et & 82
Options:

1) Avani Chaturvedi
3fafy agadt

2) Bhawana Kant
HTGAT Bid

3) Deepika Misra
difeT s

4) Mohana Singh

Hig g

Correct Answer: 3) Deepika Misra

e foyem

Candidate Answer: 1) Avani Chaturvedi

3fafy agadt

QID : 4093 - Which country’s Prime Minister was granted the ‘Grand Cross of the Order of
Honour’ by Greece in 20237

2023 H T gRT ford T & T BT US 1Y 36 T e 36 R U fbar
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Options:

1) China

Correct Answer: 4) India
HRd

Candidate Answer: 4) India
URd

QID : 4094 - Which newspaper was established by Pt. Madan Mohan Malaviya, whose birth
anniversary was observed recently on December 257

Tﬁgﬁmwwﬁwaﬁzﬁ?mmw,wwmﬁﬁzsmﬁ
?

Options:

1) Anand Bazar Patrika
3G TSR UfAehT

2) Dainik Hindustan
e fegwm

3) The Leader

Al

4) Daily Herald

ENIERS

Correct Answer: 3) The Leader

RGll

Candidate Answer: 2) Dainik Hindustan

e g

QID : 4095 - Theory of multiple intelligence emphasizes that

8-S &1 Rigid SR a8 b -
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Options:

1) Intelligence Quotient (IQ) can be measured only by objective tests.
S-S Faa Fxgfree Tl grRT € AT 51 T B

2) Intelligence in one domain ensures intelligence in all other domains.
TH AW H gfgran, o= guft st & gfgmr Fuffea et 31

3) There are several forms of intelligences.

gfeT &t faft= gz €1

4) There are no individual differences in intelligence.

e 8 #13 safead faftrrart 76t gt €1

Correct Answer: 3) There are several forms of intelligences.

i &1 faft= =g g

Candidate Answer: 3) There are several forms of intelligences.

g &t faft= g=md 81

QID : 4096 - Which process does not contribute to the course of learning?
BT TfohaT SIRATH & TR IRTGH et Gl 62

Options:

1) Decontextualization
IRy

2) Conceptualization

3) Organization

1o
4) Categorization

rffepRor

Correct Answer: 1) Decontextualization

TR HT

Candidate Answer: 4) Categorization

giffeur

QID : 4097 - Experiential learning stresses on :

SIHITHS AT g R 9 a1 82
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Options:

1) learning as a product rather then a process.

T Uichal & SOl S{TH &I Udh 3G & %0 H g8 IR
2) importance of critical reflection

STATIIHS Yfclfeie & Hgw™ IR

3) control of teacher on the learning of children

T & T R e & oA W

4) the role of reinforcement in learning

R & e &1 YHST )

Correct Answer: 2) importance of critical reflection

AT Ufdfde & Agd W

Candidate Answer: 4) the role of reinforcement in learning

Fﬂ@ﬁﬁgﬂéﬁ?ﬁ{ﬁﬁw

Options:

1) differentiation (simple to complex); integration (complex to simple)
faNdieHRur (TR 9 SIfed); THipRul (Sifed | W)

2) proximodistal (top-down); cephalocaudal (inner to outer)

Trftoey (3raRie); RS (safe T argsh)

3) integration (simple to complex); differentiation (complex to simple)
DI (AR ¥ Sffed); fAudiaon (@ 3 IRa)

4) cephalocaudal (top-down); proximodistal (inner to outer)

R (3raRieh); TR (3R J e

Correct Answer: 4) cephalocaudal (top-down); proximodistal (inner to outer)

it (Srarieh); THiuy (3riaie @ aredh)

Candidate Answer: 2) proximodistal (top-down); cephalocaudal (inner to outer)

TRy (3raR1g); 2t (3 T areh)

QID : 4099 - Which of the following is an example of an internal attribution for failure?

fafafea 5 @ oH-a1 fowadr & T 2ialke R &1 T ITex0T 872
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Options:

1) | failed the test because my friends were distracting me.

B gdien B tet g1 T IS TR SR IR &1 Yl g A

2) | didn't get good marks because the teacher was biased.
fR1e/ o gearch 811 & SR G 38 3P o) 1l |

3) I received a low grade because the teacher is a tough grader.
T2 = s T g i e FoR alid ¥ 3iidwd g

4) | failed the test because | didn't study enough.

H e # et g1 T RifH 7 vaf ueTs el B

Correct Answer: 4) | failed the test because | didn't study enough.

F qfien & a8 T P B T UgT el B

Candidate Answer: 4) |failed the test because | didn't study enough.

H e # et g1 T i 7 vaf ugTs ol B

QID : 4100 - Which one of the following is the most suitable to improve children's learning?
f=fafed & § SH-a1 st & HfmH § guR &1 & o qa ¢1fie Iuged 82
Options:

1) Regular assessment test should be conducted.

Yafird geaics- aie Ao &1 o aTfeu|

2) Teacher should explain the content using different examples and illustrations.
Rierd o =1 IqeRuM SR forsll &1 IuahT v fawd &t saReT et ATy |

3) All types of learning material should be there in the class.

FeT o I THR Bt Riaor-ameh g arfgu

4) Teacher should facilitate children to interact with each other on real-life situations.

e/ P aRafaed sita- fRUfTd IR S &1 Th-gaR & 1Y JTadid HRA | Hag HRA! A

Correct Answer: 4) Teacher should facilitate children to interact with each other on real-life
situations.

fR1giep o1 IRAfAD Sita- UGN TR all B Th-gaR & 1Y JIddid R H Hag H-1 Aoy

Candidate Answer: 2) Teacher should explain the content using different examples and
illustrations.

e 1 fAft=T IeTexuT 3R =t &1 ST B fawg &) ARSAT B MRT

QID : 4101 - Which of the following personalities quoted, “Democracy is of the people, for the
people, by the people™?

fafafad o 3 forg aafada 3 FeT, "didda @ &1, a & forg, e gRIg"?
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Options:

1) Mahatma Gandhi
TETeH it

2) Albert Einstein

T A

3) Abraham Lincoln
3fsiTeH feiep

4) Rabindranath Tagore

ST TR

Correct Answer: 3) Abraham Lincoln

3fsired fefep

Candidate Answer: 3) Abraham Lincoln

3fsTgH fofeh

QID : 4102 - Who is responsible for conducting elections in India?
YR H 19 B P 7Y i FrieR 87
Options:

1) President of India

HRd & Pufd

2) Prime Minister of India
HRA & YU

3) Election Commission of India
URT BT gA1G 3RT

4) Supreme Court of India

YRd &1 g Fred

Correct Answer: 3) Election Commission of India

URT BT IA1d 3NT

Candidate Answer: 3) Election Commission of India

YR BT AT AR

QID : 4103 - Who can make laws relating to the subjects mentioned in the Union list?

Ty gt 7 Sfcafad fawat @ Yefid w1 & a1 TahdT 872
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Options:

1) Local Government
QMY TWHR

2) State Government
g ARDR

3) Union Government
F% WPR

4) State and Union
I R T

Correct Answer: 3) Union Government
&G WHR

Candidate Answer: 4) State and Union
I 3R FY

QID : 4104 - Which of the following states in India enjoys a special status?
YRd # fafafed & 3 fa I & faRiy <ot ur 82
Options:

1) Arunachal Pradesh
3BT UG
2) Mizoram

EEice
3) Nagaland

4) Al
BRI

Correct Answer: 4) All

F ot &

Candidate Answer: 4) All
FWh e

QID : 4105 - Which organization is responsible for maintaining buffer stock of food grains in India?

YR H TR & TR WP Bl §91 I8 & [T B 1 T1e STHER 82
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Options:

1) Food Corporation of India (FCI)

YRAH @1 fATe (Ttars)

2) World Trade Organization (WTO)

fay IR W13 (Ssegclam)

3) National Food Security Act (NFSA)
RISTY e GR& SAFTH (TTUmTEy)

4) Indian Council of Agricultural Research (ICAR)

YR BN ST aREE (SMEHTIR)

Correct Answer: 1) Food Corporation of India (FCI)

YRAR W1 fA (Ttars)

Candidate Answer: 1) Food Corporation of India (FCI)
YRAH @1 fATe (Ttars)

QID : 4106 - Which of the following country doesn’t has an official state language
fFafafea o T g Sur ot oI e 5T v 781 §

Options:

1) India

HRd

2) England

3) Sri Lanka

IS

4) Al
gt

Correct Answer: 1) India
YURd

Candidate Answer: 1) India
YURd

QID : 4107 - When was the Muslim League formed?

HRTH < BT 716 e §UT?
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Options:

1)in 1916
1916 H
2)in 1910
1910
3)in 1912
1912 H
4) in 1906
1906 |

Correct Answer: 4) in 1906
1906

Candidate Answer: 4) in 1906
1906

QID : 4108 - When did the Jallianwala Bagh massacre take place?
STTferatareT ST §ATHIS P oMl
Options:

1) On 5th April 1919

5 30T 1919 B

2) On 6th April 1918
6 31U 1918 B

3) On 10th April 1919

10 30U 1919 BT

4) On 13th April 1920

13 U 1920 BT

Correct Answer: 4) On 13th April 1920
13 30 1920 HI

Candidate Answer: 4) On 13th April 1920
13 3 1920 HI

QID : 4109 - Which poetess wrote a poem named Basant in Jallianwala Bagh?

SferaraTe a1 # §9d-T1H ¥ {59 HalE 3 wigar fordt o
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Options:

1) Mahadevi Verma

HeTedl aAf
2) Mannu Bhandari
T HUSR A
3) Pushpa Kalia
g1 piferdr 3
4) Subhadra Kumari Chauhan

JHET PRI deH A

Correct Answer: 4) Subhadra Kumari Chauhan

JHE PRI A8 A

Candidate Answer: 3) Pushpa Kalia
e it A

QID : 4110 - Who returned his Kaisar-e-Hind medal in protest against the Jallianwala Bagh
massacre?

SiferataTe ST gAThTS & foRiy H fam SruAT heR-u-fe— awT oer faar ur?
Options:

1) Mahatma Gandhi
HETET T

2) Subhash Chandra Bose

U I 9 A

3) Ramaswami Mudaliar

IERarH garferar A

4) Gurudev Rabindranath Tagore

T¥ad XY SR A

Correct Answer: 1) Mahatma Gandhi

HETET e

Candidate Answer: 2) Subhash Chandra Bose
JHIY T S A

QID : 4111 - Just how many people were with Gandhiji at the beginning of the Salt Satyagraha?

TP ARG B ST H Ry o= iy et St & ary 37
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Options:

1) 72 people
72 @R

2) 78 people
78 AN

3) 75 people

75 AT

4) 82 people
82 AT

Correct Answer: 2) 78 people

78 @M

72 @M

Options:

1) through Iran
ERE RGN
2) through Afghanistan
SBIAKI & Blh
3) through Belarus
JAREY ¥ Bl
4) through Mongolia
TNferaT @ gl

A T B

B T B
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Candidate Answer: 1) 72 people

QID : 4112 - Through which country did Subhash Chandra Bose reach Soviet Russia?

b <21 A PR GHTY =% Sl HifaTd T Ug 47

Correct Answer: 2) through Afghanistan

Candidate Answer: 2) through Afghanistan

QID : 4113 - Quit India resolution was passed in which city?

URA BIS! UdTd fohd ex T U g3 ur?
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Options:

1) in Karachi
e o
2) in Calcutta

Hercbl H
3) in Madras
Aoy |
4) in Bombay

ECEK

Correct Answer: 1) in Karachi

B H

Candidate Answer: 4) in Bombay

ECEK

QID : 4114 - When was the Indian Independence Act passed by the British Parliament?
YR T Sfefad fafew I9e gR1 e Tiikd gsi?
Options:

1) On 18 July 1947

18 TS 1947 B

2) on 15 August 1947
15 3T 1947 P

3) on 26 January 1950
26 SFTART 1950 &1
4) 9 December 1946

9 fedaR 1946 &1

Correct Answer: 1) On 18 July 1947

18 JATs 1947 &

Candidate Answer: 1) On 18 July 1947

18 TS 1947 P

QID : 4115 - Rabi crops are sown in winter from October to December and harvested in summer
from April to .

TS e wfdat # sragaR ¥ foiaR a oIS ot € ok iAol @ T Tl STt B
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Options:

-—

) August
SIRd
) June

N

w
24
2

i

'S

N—
[
=

<

|

Correct Answer: 2) June

4

Candidate Answer: 2) June

o

QID : 4116 - is the largest producer as well as the consumer of pulses in the world
_ gFord el & ged 981 Sued SR JUHIE 5|
Options:

1) Brazil
EISIS]
2) USA
POEIY

3) China
E&|

4) India
URd

Correct Answer: 4) India
URd

Candidate Answer: 4) India
URd

QID : 4117 - In which year, the Participatory Irrigation Management Programme was initiated in
Bihar?

faeR & Tgurh R ydy= oriewd oy ad = foar man ur?
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Options:

1) 1997
1997
2) 2005
2005
3) 1995
1995
4) 1990
1990

Correct Answer: 1) 1997
1997

Candidate Answer: 3) 1995
1995

QID : 4118 - Which city is known as the Silk city of Bihar?
fIER &1 IRW e fHY 6 BT HgT o1l 572

Options:

1) Bhagalpur

HITAYR
2) Patna
qc-r

3) Vaishali

ERUKI]

4) Katihar

HieER

Correct Answer: 1) Bhagalpur

HITAYR

Candidate Answer: 4) Katihar

HiegR

QID : 4119 - In which year, The Bihar State Milk Cooperative Federation was established?

Y8R o0 g AEHRI WY B RITGT for a9 g3 ofi?
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Options:

1) 1980

2) 1981

3) 1982

4) 1983
Correct Answer: 4) 1983

Candidate Answer: 2) 1981

QID : 4120 - Sixty per cent of sugar mills in India are located in and

YR # 918 Ufawrd = ot 3R 7RI

Options:

1) Uttar Pradesh and Bihar

IR YR 3R f9ER

2) Bihar and West Bengal

f¥gR 3R ufym S

3) Karnataka and Uttar Pradesh
Frledh AR IR U=

4) Karnataka and Madhya Pradesh

Ffed 3R T U

Correct Answer: 1) Uttar Pradesh and Bihar

JWR U 3R fagrR

Candidate Answer: 1) Uttar Pradesh and Bihar

IR U 3R fagR

QID : 4121 - How many lines of symmetry can there be in a semicircle?
T St Rt it Y 8 g -

Options:

1)2

2
2) 1
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Correct Answer: 2) 1
1

Candidate Answer: 2) 1
1

QID : 4122 - The edges in a three-dimensional (3D) shape sphere are-
ffaia (3D) fepfal Tl (Sphere) & TR (Edges) B1d 8-
Options:

1)0
0
2) 1
1
3)2
2
4)3
3

Correct Answer: 1) 0
0

Candidate Answer: 4) 3
3

QID : 4123 - The piece of pipe is an example of which shape
UI3Y &1 ¢h ST fohd 3hfd HT IaTeR0T §
Options:

1) cube
udq

2) Circle
el

3) Cone

RiEd
4) cylinder
CRE]

Correct Answer: 4) cylinder

NG|

Candidate Answer: 4) cylinder

NG|
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QID : 4124 - A solid that has two opposite identical faces and other faces as parallelograms is a
T 31 oS <1 FAudid IHM et & 9T 310 Bl THIR IqHST 81, T ... 2
Options:

1) prism

o

2) pyramid

3) cone

[P

4) sphere

ISl

Correct Answer: 1) prism

oreH

Candidate Answer: 2) pyramid
[ENIESS

QID : 4125 - What cross-section do you get when you give a vertical cut to a round apple?

T 317 U M VS Pl SR Be 4 & df MUD! DI AT SR Ple fAeldr 82
Options:

1) circle

qch

2) Triangle

3) Square

4) rectangle
HIgd

Correct Answer: 1) circle
EEd

Candidate Answer: 1) circle
EEd

QID : 4126 - Which of the following has two edges and no corner

Frofafed & 9 f5ad a fTR § SR 318 S 781 &
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Options:
1) cylinder

2) Prism
o

3) cone

AP

4) None of these

T A PIS Tl

Correct Answer: 1) cylinder

KSR

Candidate Answer: 1) cylinder

IBSER

QID : 4127 - (- 8) + (7) = ?
(-8)+ (1) =2

Options:

3) -1
-1
4)3
3

Correct Answer: 3) -1
-1

Candidate Answer: 3) -1
-1

QID:4128-(3)+(-2)="7

(B)+(-2)=7
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Options:

Correct Answer: 4) 1
1

Candidate Answer: 4) 1
1

QID : 4129 - 300 + 20 + 3 + 4/10 + 5/100

300 +20 + 3 +4/10 + 5/100

Options:

1) 323.45
323.45

2) 248.85
248.85
3)278.95
278.95
4)728.6
728.6

Correct Answer: 1) 323.45
323.45

Candidate Answer: 2) 248.85
248.85

QID : 4130 - 12 + 2/10 + 4/1000

12 + 2/10 + 4/1000
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Options:

1) 15.607
15.607
2) 13.705
13.705
3) 12.204
12.204
4) 12.405
12.405

Correct Answer: 3) 12.204
12.204

Candidate Answer: 2) 13.705
13.705

QID :4131- 9.6 -34/10
9.6 — 34/10
Options:

1)6.2
6.2

2) 57
5.7

3) 4.2
4.2
4)1.2
1.2

Correct Answer: 1) 6.2
6.2

Candidate Answer: 1) 6.2
6.2

QID : 4132 - A carton holds 24 packets of biscuits. Each packet has 12 biscuits. How many
biscuits can be packed in 45 cartons?

Ww?ﬁﬁw%zﬁ%&lﬁ%lmﬁ%ﬁmw% 45 f&=at & fpam fovpe O fpd o
Thd g2
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Options:

1) 12960
12960
2) 12690
12690
3) 12660
12660
4) 12990
12990

Correct Answer: 1) 12960
12960

Candidate Answer: 1) 12960
12960

QID : 4133 - A shirt can be made out of 3 m cloth. If there is a roll of 1350 m cloth, how many total
shirts can be made out of it?

TP TC 3 MR HUS J T8 off Tbll 81 Al 1350 ek HUS &1 UH A 8, o 39 Hd foba-1 AS
TS o Jobell &2

Options:

1) 445
445
2) 455
455
3) 435
435
4) 450
450

Correct Answer: 4) 450
450

Candidate Answer: 4) 450
450

QID : 4134 - Beena bought 3 kg 760 grams of wool to make a carpet. How much more wool does
she need to make the weight 4 kg?

T A BT S & 1T 3 el 760 W I WieT| a9 4 fovell 3 & foIE I 3R fobd S &t
SIS gIIT?
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Options:

1) 245
245
2) 240
240
3) 230
230
4) 235
235

Correct Answer: 2) 240
240

Candidate Answer: 2) 240
240

QID : 4135 - Jason purchased 7 kg 200 g of sugar, 9 kg 395 g of rice. What is the total weight
which Jason carried?

S A 7 faet 200 T AR, 9 fHa 395 T ATad WHieT| S §RT ST T $d aoi faraT 872
Options:

1) 16 kg 595 g
16 fopal 595 UM
2)15kg 595 g
15 foralt 595 UH
3)16 kg 555 ¢
16 fopal 555 T
4) 16 kg 599 g
16 foralt 599 UH

Correct Answer: 1) 16kg595g
16 foball 595 UH

Candidate Answer: 1) 16 kg 595 g
16 fobell 595 UH

QID : 4136 - Brian sold 123 kg 231 g of newspapers and 200 kg of magazines. Find the total
quantity of articles sold.

ST 7 123 frelt 231 U 3RFER 3R 200 frar ufyemd 9= | o< 78 axgsii &t a wmEn I i
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Options:

1) 323 kg 233 g
323 foret 233 T
2)323kg231g
323 feur 231 9
3)333kg211g
333 fHam 211 U
4) 322 kg 231 g
322 feur 231 9

Correct Answer: 2) 323 kg231g
323 {61 231 gm0

Candidate Answer: 2) 323 kg 231g
323 3 231 W

QID : 4137 - 28 kg into grams is ----

28 framI I & §
Options:

1) 2800 g

2800 UH

2) 28000 g
28000 UTH

3) 280000 g
280000 UTH

4) None of these

T A PIS Tl

Correct Answer: 2) 280009
28000 UtH

Candidate Answer: 2) 28000 g
28000 ItH

QID : 4138 - The scale of map is given as 1:40000000 two cities are 3cm apart on the map. Find
the actual distance between them?

THFRE ST UHMT 1:40000000 T 741 B, AT W 8 2eR 3 Wt &1 g8t )R §1 3% o aRdfds
g3 I1d Bifor?
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Options:

1) 1400
1400
2) 1300
1300
3) 1200
1200
4) 1100
1100

Correct Answer: 3) 1200
1200

Candidate Answer: 2) 1300
1300

QID : 4139 - The length of the longest pole that can be placed on the floor of a room is 10m and
the length of the longest pole that can be placed in a room is 10v2 m. What is the height of the
room?

TP HHR b B TR AT o b dTcl T e T Bl AGTS 10 Hiex g 3R T HH H AT o b
T JoT fd TH P a5 10v2 Hiex g1 HHR I SHaTs fobd-l 82

Options:

1)10.5m
10.5 Ht
2)10.2m
10.2 7Y
3)10 m
10 #t
4)20 m
20 Wt

Correct Answer: 3) 10m

10 @t

Candidate Answer: 1) 10.5m
10.5 Ht

QID : 4140 - Which of the following is the probability of an impossible event?

fFofad & § &1 Al U 3™HT U1 & YHIET 872
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Options:

3) Between 0 and 1
03R1FHda

4) None of these

T A PIS Tl

Correct Answer: 2) 0
0

Candidate Answer: 3) Between 0 and 1

03R1F s

QID : 4141 - The range of the data: 6, 14, 20, 16, 6, 5, 4,18, 25, 15and 5 is

ST HI T 6, 14, 20, 16, 6, 5, 4,18, 25, 15 3R 58
Options:

1) 4
4

2) 21
21

3) 25
25
4) 20
20

Correct Answer: 2) 21
21

Candidate Answer: 4) 20
20

QID : 4142 - There are non-squares numbers in between 92 & 102 .

92 3R 102 F dF TR-g7f et g |
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Options:

1) 15
15
2) 11
11
3)19
19
4)9
9

Correct Answer: 3) 19
19

Candidate Answer: 3) 19
19

QID : 4143 - If Akshat has twelve two rupees coins and two five rupees coins. What is the total
amount with him?

e 31efd b U &1 FUY &b IRE Rideh 3R Ui $9A & <1 g &1 IqP U pof A fbail 872
Options:

1) 43 rupees
43300
2) 34 rupees
34 30
3) 23 rupees
23300
4) 32 rupees

32 3UY

Correct Answer: 2) 34 rupees

34 3UY

Candidate Answer: 2) 34 rupees

34 30y

QID : 4144 - A boy has two two rupees coins, one five rupees coins and two ten rupees coins. In
what combination should the boy select three coins so the amount is maximum?

T AP & UTE < &l ST & Ryaeh, Teh Uid UY & Riab 3R &1 <9 U & Ry &1 s &l i
TS | o Rad] &1 9 HAT amiey dTfds R 3{YHdH 81?
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Options:

1) two five rupees and one ten rupees
3 U1 30 3R U o B0

2) three ten rupees and one five rupees
T 39 30 SR Ue Ui S0

3) four two rupees and one ten rupees
TR & TT 3R TH & 3T

4) two ten rupees and one five rupees

31 38 ¥UY 3R U U I

Correct Answer: 4) two ten rupees and one five rupees

31 38 ¥UA 3R U U I

Candidate Answer: 4) two ten rupees and one five rupees

3 T ¥UY 3R U Ui I

QID : 4145 - Which among the following Learning-Teaching Resources (LTRs) are most
appropriate for visually challenged students in mathematics classroom? (a) Geogebra (b) Taylor's
abacus (c) Computer (d) Spreadsheet

T Bt e o =iy faenfiat & fog frafead siftrm Rreror Tameqt (e & sR) A B
T IUGad 87 (a) FOTASIERT (b) TR &1 FFART (c) R (d) Bisite

Options:

1) (c) and (d)

(c) 3R (d)

2) (b) and (c)

(b) 3R (c)

3) (b), (c) and (d)
(b), (c) 3R (d)
4) (a) and (b)

(a) 3R (b)

Correct Answer: 2) (b)and (c)

(b) 3R (c)

Candidate Answer: 4) (a) and (b)

(a) 3R (b)

QID : 4146 - If A= -2x2 +12x, B=11-8x+3x2, C=17-4x% and D=x? - x-3, then what is the sum of the
co-efficients of x2 and x in (A+B+C-D) ?

i A= -2x2 +12x, B=11-8x+3x2, C=17-4x2 and D=x2 - x-3 &, (A+B+C-D) ¥ x2 3R x & U1} BT
T %:
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Options:

1)1
-1

Correct Answer: 2) 1
1

Candidate Answer: 3) 3
3

QID : 4147 - If 5x*-8y-20x+2xy= (x+a) (bx+2y), then the value of (a-b) is :
Tl 5x2-8y-20x+2xy= (x+a) (bx+2y) g, (a-b) T HIF g
Options:

1)9
9

2) -1
-1
3)-9
-9
4) 1
)

Correct Answer: 3) -9
-9

Candidate Answer: 2) -1
-1

QID : 4148 - In AABC , the side AB is produced to E and side CA is produced to D. If zBAD = 125
°and £EBC = 100°, then which of the following is true?

A ABC T YT AB &1 E d% 3R YT CAHI D d% FiT oIl g1 TfS , 2BAD = 125 ° 3R £ EBC =
100°%, AT IBTTTTTE 2
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Options:

1) AABC is an isosceles triangle.

A TSRf T THfgaTg By 3.

2) AB >BC

AB > BC

3) Difference between 2ABC and £ACB is 35°
£ ABC 3R 2 ACB & &9 &7 3fcR 35° §

4) Difference between BAC and 2 ACB is 20°
£ BAC 3R 2 ACB & &g &7 3faR 20 ° §

Correct Answer: 3) Difference between 2ABC and £ACB is 35°
£ ABC 3R 2 ACB & o9 &7 3R 35° §

Candidate Answer: 3) Difference between 2ABC and 2ACB is 35°
£ ABC 3R 2 ACB & oI 7 3R 35° 8

QID : 4149 - Which of the following is a narrow aim of teaching mathematics?
ffiRad & 9 S 11 1ford e o1 It e @ 2
Options:

1) To encourage systematic reasoning among students.

faenfial o gorafyd adur &1 Uienfed &1l

2) To develop students' ability to argue the truth and falsity of statements.

TNt & w5 31 Tt SR STt B THIId B &t AT &1 A S|

3) To make students proficient in handing numbers and number operations.
faenfial o Sl iR Twarsll R g arch Aicharsii &7 Hared HRA § g0 AT
4) To develop students' generalization abilities.

fenfay o QraRReROT erar &1 fawr FHRAT|

Correct Answer: 3) To make students proficient in handing numbers and number operations.

faenfiat & st ok TRemsft iR g arelt Wfkareft &1 e s | fgur a1

Candidate Answer: 3) To make students proficient in handing numbers and number operations.

faenialt 1 TrRemstt ofik TReAmsit R g areft Wfopanatt &1 Sarer Fva & fAgur w1

QID : 4150 - While teaching 'shapes', a teacher can plan a trip to historical places, as - A. it needs
to provide leisure time as most of the syllabus has been completed in time B. it would be an
opportunity to improve communication skill C. shapes are an integral part of every architecture
and such trips encourage connections across disciplines D. Field trips are recommended by
Education Board, so must be organized Select the correct answer using the code given below.

THR' TGTd JHY, Ueh fRrerss faeTRies R &1 a1 Bt TioTT 941 GohdT § , F1h- A. THT FHT
& R B ATTRAHT § i ATYH T TTSTHH THT TR T 81 IHT ¢ B. T8 TR DHINA H JUR
HR BT AT BN C. 3MHR &R ARGl BT U AT T § 3R 59 e &t aemd fawaf o Taiy
DI TieIed Bl & D. e 91E gRI Bies U ot RIBRRY @1 o1t €, 38fT 591 e 3wy
e ST =nfeT =i faw T pe 1 gai a1 Wt SaR g
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Options:

1)Aand B
A 3R B
2)C

C

3)Band C
B3R C
4)A, Cand D
AC 3R D

Correct Answer: 2) C
C

Candidate Answer: 3) Band C

B3R C

QID : 4151 - Which one of the following statements is correct regarding friends?
ot & Ty o Fofifed & 3 oF a1 S 981 82
Options:

1) They ensure they talk to each other daily

3 YT Prd & b 3 Uob-gaR I ufafes ara &8

2) They don’t share their personal life with each other
3 ot fsit ffeft uep-gaR & ary e 8 #vd §

3) They never argue about important thing

3 Fft +ft Teyul 919 R 989 8 HRd

4) They try to spend quality time with each other
J TH-gWR & AU Bt 1A fam &) B v §

Correct Answer: 4) They try to spend quality time with each other

3 TH-gER & T SHICrCT 3T I Bt BRI Rt &

Candidate Answer: 4) They try to spend quality time with each other

3 UFH-gI & I HIrCT e a3 HIR v §

QID : 4152 - “Family is a unit consisting of a mother, father and their two children”. This statement
is

“GRER U IHT8 & Forgd A, far 3iR 37 3 o= U e 81" Jg pU 8
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Options:

1) incorrect, because the statement should specify that the children are biological

o 5, Hife B # g5 My g1 afee i o= wifde §

2) incorrect, because there are many kinds of families and one cannot classify family as being of
only one kind

TAd 8, Fiifes TRAR Fs UHR & B § 3R PIs Ht URAR & Frad T & UHR & T § Fifepd gt
B bl 8

3) correct, since this is an ideal family size

eI 8, Fiifes I8 URaR &1 3Mexf SMHR §

4) correct, because this is what all Indian families are like

e 2, Fifp i IR IRaR W E g &

Correct Answer: 2) incorrect, because there are many kinds of families and one cannot classify
family as being of only one kind

TT0d 8, 1fdh URAR s UHR & BId & 3R B18 ot IRaR & Had U & UbR & = H arifgd gt
P IHAT g

Candidate Answer: 3) correct, since this is an ideal family size

TSt 2, Fiifs Ug URAR &1 3mexf 3MHR §

QID : 4153 -A is a place where we find food and game stalls.

I8 I g Ogl g8 i 3R @ & il fred g

Options:

1) circus
BiEa

2) monic hall
Hif e gl
3) fair

Bl

4) school

¥R

Correct Answer: 3) fair

Al

Candidate Answer: 1) circus

Y

QID : 4154 - Who among these help in regulating traffic?

9 ¥ S g1drTd o fafafig 9 # 7eg Hare?

https://btet.sifyreg.com/bsebregjan24/ccgsa_mar24/process.php?appid=a120850d7226cd50ca5f94ea073a2b51&q=N2UINWIyNmQ3NTQzZG... 48/72



3/19/24, 1:17 PM COMPETENCY TEST FOR LOCAL BODIES TEACHER(CTT),2024(First)
Options:

1) Plumber
TR

2) Pilots
qrgeic

3) Traffic police

rarTd gferd

4) None of these

T A PIS Tl

Correct Answer: 3) Traffic police

rarrd gfem

Candidate Answer: 3) Traffic police

rarTd gferd

QID : 4155 - Which game is shown in the movie-"Chak-De-India"?
TH-o-31$1 e B HF 1 W e 11 82
Options:

1) Hockey
RIEl
2) Cricket

[
3) Football

Pcdid
4) Tennis

EER]

Correct Answer: 1) Hockey
el
Candidate Answer: 1) Hockey

Qeal

QID : 4156 - Trees give us shade and clean air to

e &8 o1 IR W ga1 &a &
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Options:

1) breathe

g o & forg
2) none of these
T A IS e
3) bath

N

4) drink

g

Correct Answer: 1) breathe

RIRKEEARIY

Candidate Answer: 1) breathe

RIRKEEARIY

QID : 4157 - Plants that grow on the ground are called

SHF TR I aTe 01 BEed §
Options:

1) climbers

TR

2) none of these
$TH A IS e
3) creepers
qaTg

4) herbs

Correct Answer: 3) creepers

o

ddid

Candidate Answer: 4) herbs

QID : 4158 - Which of the following is not an aquatic animal?

fofafed & 9 S et g 181 87
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Options:

1) Frogs
2) Dolphin
Sifeth

3) Whales
®d

4) Camels
e

Correct Answer: 4) Camels

v

e

Candidate Answer: 4) Camels
T

QID : 4159 - Which of the following order is correct, regarding the life cycle of the butterfly?
foeelt & Sftae =ep & Hey & Fafofed # 9 o 91 o0 981 82
Options:

1) Egg Larva Pupa Adult
3S &1 1Al wul aa%h
2) Larva Egg Pupa Adult
qTat SIS Ul TG

3) Pupa Egg Larva Adult
T 3fET ATal TG

4) Larva Pupa Egg Adult
qTat T 3T TR

Correct Answer: 1) Egg Larva Pupa Adult
3S &1 ATal wul 9O

Candidate Answer: 3) Pupa Egg Larva Adult
T 3 ST Al TR

QID : 4160 - Which of the following do not belong to the mammal family?

fafifad & @ @ TR uiar ¥ g6fid T8 22
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Options:

1) Dog

Pl
2) Whales

By

3) Bats
ELUIFS)
4) Frog

Correct Answer: 4) Frog

Hedh

Candidate Answer: 3) Bats
dHIMGS

QID : 4161 - Ants leave behind a when they move:-
Hifeal g Tefdt & aF 3 de BIS Il §:-
Options:

1) Water.
gt

2) Smell.
Y

3) Blood.
Xod

4) None.

P el

Correct Answer: 2) Smell.

Yy

Candidate Answer: 2) Smell.
Y

QID : 4162 - How many players play in a basketball team at a time?

T IRGedd A H T g7 § fran faars) @ad 82
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Options:

Correct Answer: 2) 5
5

Candidate Answer: 2) 5
5

Options:

1) child labour
o7 4H

2) small worker
BT il
3) small child
Blel g=

4) labour worker

yftres BrdPpal

Correct Answer: 1) child labour
EIGE LI

Candidate Answer: 1) child labour
EIGE LI

QID : 4164 - Electric gadgets work because of

sdffed M Foll & HRUBH B ¢

https://btet.sifyreg.com/bsebregjan24/ccgsa_mar24/process.php?appid=a120850d7226cd50ca5f94ea073a2b51&q=N2U1NWIyNmQ3NTQzZG...

BIe-BIe T & OF B B a1 g1 59 .

QID : 4163 - There are small children who are forced to work. This is considered as

T ST 8|

energy.
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Options:

1) electrical

fagga

2) sound

&

3) light

UhIRI

4) none of these

T A PIS Tl

Correct Answer: 1) electrical

faggd

Candidate Answer: 1) electrical

fagga

QID : 4165 - Which energy is used to cook food?

WIS U™ # food SHoit T IUTNT b ST 872

Options:

-
~

heat

5,

2) electrical

faggd

3) sound
\SIE]

4) all of these
gt

Correct Answer: 1) heat

e

Candidate Answer: 1) heat

e

QID : 4166 - We use to play cricket

&9 fpdbe Wam & forw BT YA B &
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Options:

1) muscular energy
TRl BT o
2) both

Cil

3) chemical energy

4) none of these

T A PIS Tl

Correct Answer: 1) muscular energy

AU B Kol

Candidate Answer: 1) muscular energy

A0 B Kol

QID : 4167 - Solar cookers, solar heater and solar panel use energy of the

TR FHR, IR BleR 3R R U7d B1 SHoll &1 ST HRd §
Options:

1) sun

ghR

2) none of these
3T A IS e
3) light

UhIRI

4) electricity

ferorett

Correct Answer: 1) sun

JhR

Candidate Answer: 3) light
UhIRI

QID : 4168 - Which solution is given when a person has vomiting and loose motions?

ot safa &t It 3R X 811 R DI 1 9 fea wirar 82
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Options:

1) ORS.
SIRTY.

2) Fruit juice
Bl BT 3™
3) Milk

<Y

4) None

IS el

Correct Answer: 1) ORS.
IRTY.

Candidate Answer: 1) ORS.
3flSRTY.

QID : 4169 - Which of the following food components is required for the growth and maintenance
of the human body?

A4 TRR B gig 3R @G & o Fufafed § § 319 A1 Wl 9eh 31axasd 82
Options:

1) Proteins
PIGiE|

2) Vitamins
foerfem

3) Minerals
el

4) Both

&

Correct Answer: 4) Both

aH

Candidate Answer: 1) Proteins

PIGiE]

QID : 4170 - Which of the following food components does not provide any nutrients?

Fufafed § T &9 91 TR Uch BIs UNe dd USH 8] Bl 82
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Options:

1) Milk

<Y

2) Water

CIEi]

3) Fruit Juice
el BT Y

4) Vegetable soup
Heoll BT YU

Correct Answer: 2) Water

ort

Candidate Answer: 2) Water
gt

QID : 4171 - Potatoes, cereals, beans, pulses and oats are rich in
AT, 3FN, Y, S RIS AWl

Options:

1) Proteins
oA

2) Vitamins
faerfem

3) Minerals

et
4) Carbohydrates

EREIET

Correct Answer: 4) Carbohydrates

EREIET

Candidate Answer: 4) Carbohydrates

EREIREET

QID : 4172 - How is milk pasteurised?

Y DI TIYPHd Y BT STl 52
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Options:

1) By heating it at 100 C for 15 min or at 90 C for 5 min

39 100 C W 15 e & faw a1 90 € WR 5 e 9@ T o
2) By heating it at 100 C for 15 min or at 90 C for 32 min

U 100 C W 15 e & forg a1 90 ¢ WR 32 e 9@ 71 Fvap
3) By heating it at 71 C for 15 min or at 62 C for 5 sec

39 15 e & fol 71 ¢ R a1 5 9 € & faW 62 C IR 71 a3y
4) By heating it at 71 C for 15 s or at 62 C for 32 min

U 71 C W 155 & W A1 62 C WR 32 e a1 axdb

Correct Answer: 4) By heating it at 71 C for 15 s or at 62 C for 32 min
U 71 C R 155 & W A1 62 C R 32 e a6 71 axb

Candidate Answer: 1) By heating it at 100 C for 15 min or at 90 C for 5 min
34 100 C W 15 e & faw a1 90 € WR 5 e 9@ T o

QID : 4173 - It has been observed that the process of digestion is faster inside the stomach than
outside because

Tg @1 T § b UreH B UfhaT STex 1 qor § U & 3iaR al BId & i
Options:

1) the digestive juices when kept outside the stomach become inactive
T 9 1 U 3 STeR 3T 91T & ot FifSpa & o @
2) the food is churned in the stomach thereby increasing the surface area for quicker enzyme
action
U H HISH 1 HY Bl & R @R TogH fohar & ey ae &4 §¢ Wil &
3) the digestive juices inside the stomach are acidic, while outside they are alkaline
U< & 3feR Urdeh I 317l BId &, Sfafch STex d &R 81 ©

4) the amount of digestive juices produced in the stomach in the presence of food is much more

Yo B IUTRIFY | Ue & s+ a1l UTeieb I&T B AT agd 38 gidl §

Correct Answer: 2) the food is churned in the stomach thereby increasing the surface area for
quicker enzyme action

Uc # Hio o1 Y= giaT & R @Rd Tog fbar & T Iag &7 s o @

Candidate Answer: 2) the food is churned in the stomach thereby increasing the surface area
for quicker enzyme action

U< H HISH 1 Hy a1 & for @R TomgH foban & forg g &7 9g o1 &

QID : 4174 - Which one of the following is a good cooking practice?

fFfRad & I B9 I1 T 33T T@HT UhH BT M 872
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Options:

Options:

qrelf ...

COMPETENCY TEST FOR LOCAL BODIES TEACHER(CTT),2024(First)

1) washing the vegetables nicely and then cutting
ool BT 3fw ¥ UIY 3R fhR H1e

2) cutting the vegetables and then washing these in running water

it PreT 3R bR 3% I8 I & e

keeping the vegetables in sunshine for some time before cutting and cooking

ool BT FleA 3R THH ¥ Ugd T8 o YU & 39
4) cooking the vegetables by deep frying to kill bacteria
ST B ARA & fre Tfssrl 1 Sy TS HRab BTy

Correct Answer: 1) washing the vegetables nicely and then cutting

ol 1 3 § 41g SR R B1e

Candidate Answer: 1) washing the vegetables nicely and then cutting

ol 1 3 § U1g SR R B1e

QID : 4175 - Green Revolution refers to

gRawifdead . I3

1) Use of green manure

T WTE BT WA

2) Grow more crops

3{fereh e IMY

3) High Yield Variety Programme
I IUS fafaedr sriwH

4) Green Vegetation

FRCERIG]

Correct Answer: 3) High Yield Variety Programme

I IU fafdyar srisH

Candidate Answer: 3) High Yield Variety Programme
I I fafaerar srieH

QID : 4176 - Soil supplies ................... Nutrients to plants

...... UIve dd gt gRT SMgf T 9d € e da
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Options:

1) 11
11
2) 12
12
3)13
13
4) 14
14

Correct Answer: 4) 14
14

Candidate Answer: 4) 14
14

QID : 4177 - Which types of wells are available?

59 THR & HU U g2
Options:

1) Dug wells, tube wells

P, YA Wig T

2) Dug wells, river wells
Gie MY P, Tt & DU
3)Aandb

Cikll

4) None of these

T A P Tl

Correct Answer: 2) Dug wells, river wells

GIe TP, T & U

Candidate Answer: 3) Aandb

&
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Options:

1) Sh(ubs
el

2) Unwanted plants
Sfaifesd arg

3) Useful plants
IUIRT ey

4) None of these

T A PIS Tl

Correct Answer: 2) Unwanted plants

3qifd qY

Candidate Answer: 2) Unwanted plants

3qifd qY

QID : 4179 - Who built Gadisar Lake?

TSRR gd fe saman?
Options:

1) King Gadhsi of Jaisalmer.
SIRICER & Tl T4t
2) Akbar from Delhi.
el @ srpaR|
3) Aurangzeb.

I
4) QutubShahi Sultan

EERIES alnt

Correct Answer: 1) King Gadhsi of Jaisalmer.

SR & ol T |

Candidate Answer: 2) Akbar from Delhi.

ot T srpeR|

QID : 4180 - Golconda fort located in which State?

TMagat feer fra s o fRya g2
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Options:

1) Bihar
fogR

2) Telangana

3) Madhya Pradesh
Eak:aere
4) Andhra Pradesh

3Ty e

Correct Answer: 2) Telangana

RIUIGH

Candidate Answer: 2) Telangana

RIUIGH

QID : 4181 - The most significant and essential mineral required for our body is
TR TRR & AT SHTTH Tad Hgayqu 3R SHa=gd Jieol gl
Options:

1) Iron

el

2) Sodium
qifean

3) Calcium
e

4) All of these
g gt

Correct Answer: 4) All of these

gt

Candidate Answer: 1) Iron

Gl

QID : 4182 - Which of the following food components does not provide any nutrients?

fFafafed & T &9 91 T Uch BIs UNe dd USH 8] Bl 82
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Options:

1) Milk

<Y

2) Water

gt

3) Fruit Juice
el BT Y

4) Vegetable soup
Heoll T YU

Correct Answer: 2) Water

ort

Candidate Answer: 2) Water
gt

QID : 4183 - The materials which allow light to pass through them completely are called —.
3 yeref S Tt Y 3T 3R | It ke ToRA &d §, Hedld - |

Options:

1) Transparent
2) Translucent
R

3) Opaque

4) Lustrous
JHD R

Correct Answer: 1) Transparent

Rexff

Candidate Answer: 1) Transparent

Rexff

QID : 4184 - Which of the following is a miscible liquid?

fafifad 9 9 o a1 fyoia e 82
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Options:

-
=

)In

R
2) Petrol

3) Oil
L[S
4) Milk
Ty

Correct Answer: 1) Ink

-t

Candidate Answer: 3) Oil

G|

QID : 4185 - An oiled paperactsasa____ material.
AT TN B Iqeft & U B SR Bl g
Options:

1) Transparent

2) Translucent
JRHTS

3) Lustrous
DI

4) opaque

3qrRexff

Correct Answer: 2) Translucent

TRYTS

Candidate Answer: 3) Lustrous

JADIA!

QID : 4186 - is an example of terrestrial habitat ?

YA 31T BT U 3T 872
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Options:
1) River

2) Desert

i

) Po

%3

4) Lake

&

Correct Answer: 2) Desert

IR

Candidate Answer: 2) Desert

I

QID : 4187 - An example of a biotic component of mountain regions is ?
Tadrg &F & Sifded ged BT U Ialexul 8?2
Options:

1) Snow
TH S EUH
2) Water

iG]
3) Rock

e
4) Yak

Ricg

Correct Answer: 4) Yak
qih

Candidate Answer: 3) Rock

QID : 4188 - The process of breathing of living organisms is called ?

Sfifdd Sital & J g < D1 uichar EISIGINY
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Options:

1) Respiration
Gkl

2) Photosynthesis
PEIRUSERLLY

3) Stimuli

RLSEl

4) Excretion

IS

Correct Answer: 1) Respiration

CREl

Candidate Answer: 1) Respiration
GNE

QID : 4189 - Earthworms breathe through their ?
FgU ATy A AAIR?
Options:

1) Fins

A UG

2) Blowholes
g™

3) Grills
TMethr

4) Skin

oadl

Correct Answer: 4) Skin
CEl

Candidate Answer: 4) Skin
oadl

QID : 4190 - Which is a standard unit of measurement?

HIY &1 A SHTs B T 82
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Options:

1) Finger
K|

2) Fist
et

3) Step
haH

4) Inch
EE)

Correct Answer: 4) Inch

EE|

Candidate Answer: 4) Inch

EE]

QID : 4191 - 10 millimetres is equal to

10 ficfifier s RIR 8
Options:

1) 1 metre

1 Hier

2) 1 centimetre
1 YR

3) 1 kilometre
1 foretieieR

4) 1 cubits

1 81 (1Y)

Correct Answer: 2) 1 centimetre

1 IR

Candidate Answer: 2) 1 centimetre

1 A

QID : 4192 - The base of an electric cell is its terminal.
faagd I &1 YR TP CEERE]
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Options:

1) Positive terminal
YHTEHD Cia

2) Negative terminal
BT cHd

3) Negative and positive
FHUNEHD 3R UATHD

4) None of these

T A PIS Tl

Correct Answer: 2) Negative terminal

FUTHD i

Candidate Answer: 3) Negative and positive
FHUMEHD 3R TP

QID : 4193 - ------—-——- is an energy which flows in an electric circuit.
------- & Sl § S faggd uRuy & yarfed gkt 8|
Options:

1) Electric circuit
Solfage Aide

2) Electromagnet

faggd g®

3) Electric current

aa\ga ydie
4) None of these.

STH A DI Tl

Correct Answer: 3) Electric current

faqgd vare

Candidate Answer: 3) Electric current

faqgd vars

QID : 4194 - Which of the following is a non-magnetic material?

fFafRed & & & 91 U TR-geid yard 82
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Options:

-—
~

Iron

&

2) Cobalt
EaCI
3) Glass
RNIRS]

4) Nickel
[REaN

Correct Answer: 3) Glass
RIS

Candidate Answer: 2) Cobalt

P

QID : 4195 - The earth’s plate responsible for causing earthquake is:

T = YT g e T foran S8t ¥ $8 w2 ford | 98 o= argat § fob su et €
TEi? UTIe SO Hee AT T8 g

Options:

1) The crust of the earth

W § o=t gt Ty axgd S §fa 07 Rithd, wifers W 3nfe, R Wbfers ®e ST 7, TTea
TR YIS TSl YT B & |

2) The mantle of the earth

qﬁ%@muﬁ%%muﬁ%w@ﬁ%ﬁwﬂ T TS R BUTES AR
BRI

3) The inner core of the earth ]
a@?%wmm*ww—m ST TTC BT, I8 I Wt &1 Uepfal IR AR vt & Foret gt awgd
eIl

4) The outer core of the earth

T AP ol 7L

Correct Answer: 1) The crust of the earth

@ A o Tt Ty oy S a7 O Rither, wifes Wpat onfe, R Wbl sel o 8, e
TR YIS IS UTed R &

Candidate Answer: 2) The mantle of the earth

uﬁ%ﬁmuﬁ%%mﬁ%w@ﬂ%ﬁmﬁ U TS+ W BUTHSD TR
HEIGIE

QID : 4196 - When an object gets negatively charged by the process of friction then:

YU & HRUT G IHd o
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Options:

1) The object loses some electrons

AR, yTEe R 916

2) The object loses some protons
YRae 3R afsd

3) The object gains some electrons
4) The object gains some protons

1¢ 3R dfed

Correct Answer: 3) The object gains some electrons

Candidate Answer: 2) The object loses some protons

YRITH 3R afsd

QID : 4197 - Sparkers can be seen on electric poles. Which wires become

TR P B IR fSTelt & Wi iR R 3t o Topelt ©
Options:

1) Loose
dier

2) Tight
HYT g3l
3) Wrinkle
1

4) None of these

I el

Correct Answer: 1) Loose

Gl

Candidate Answer: 3) Wrinkle
fRrep

QID : 4198 - A device used to test whether an object is carrying charge or not is called

Tl o TR SHTART § AT T THBT TRAEUT 3 aTal JUDBRUN D! T Had 872
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Options:

1) Electrometer

gage e

2) Charge metre
et Hiex

3) Electroscope

4) Chargoscope

Correct Answer: 1) Electrometer

galdgIHICR

Candidate Answer: 1) Electrometer

galagIHICR

QID : 4199 - The process of recharging groundwater by collecting rainwater is known as
Tl T DI THEAT HRb Yold GTHRUI BT Ufchar Bl & U H ST ST g |
Options:

1) Drip irrigation
fu R

2) Water harvesting

ENKERE]

3) Both Drip irrigation and Water harvesting
4) None of these

T A PIS Tl

Correct Answer: 3) Both Drip irrigation and Water harvesting

Candidate Answer: 2) Water harvesting
ENEELE]

QID : 4200 - Which of the following help in making people a valuable resource?

fafafed & @ &9 arl B U6 Jeaa J91e- §9H H Aeg $HRdl 872
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Options:

1) Knowledge
RG]

2) Education
fRuafm

3) Health
ARy

4) All of these
70 9 At

Correct Answer: 4) All of these

I O gaft

Candidate Answer: 2) Education

fRrem
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